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Instructions :

R

1)
i)
iii)

iv)

xii)

All questions are compulsory.

This question paper has two sections ‘A’and ‘B’.

Section ‘A’ contains 20 multiple choice type questions of 1 murs
each that has to be answered on OMR Answer Sheet by darker.-.
completely the correct circle with blue or black ballpoint pen.
After giving answer on OMR Answer Sheet do not cut or use erascr.
whitener etc.

Section ‘B’ contains descriptive type questions of 50 mar

Total 5 questions are there in this section.

In the beginning of each question it has been mcnti@hﬁW many
parts of it are to be attempted.

Marks allotted to each question are mentioned
Start from the first question and go up to
waste your time on the question you can .
If you need place for rough work, doN the left page of vour
answer book and cross ( x ) the pa& not write any solution on
that page.

Do not rub off the lines cons in a question of construction.
Do write the steps of cons ioh in brief, if asked.

Draw neat and correct fi in solution of a question wherever it

i1s necessary, otherwi its absence the solution will be treated
incomplete and wr

O TmvE - w
o 06 Section - A

qgef; ( Sgfrwedty wvT )

( Multiple Choice Type Questions )

st it.
question. Do not

w2 B) V3

© 9 . E D) 7 1
1. Rational number wi]] be

A 2 B) V3

€ o D) 7
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. wwmy=m2+bx+c,aio%mmmw

(A) TEATHRT, (B)  gaTER
() #hTE (D)  Temsm .
The shape of the graph of a quadratic equation y= ax?+bx+CH a#0
will be
(A) Parabola (B) RECtangular
(C) Straight line (D)  Circular 0& 1
xX_Y ' 2 . 1.2

rfw e H:g,ax+by=a +b ﬁym‘jmqg};n 9
(A) a B} ab QQ

b O 1
(C) b (D) a

In the system of equations %:%, a_x+by=® , value of ¥ will be

(A) a (B) e
(C) b Q‘*ﬁ {

(A) as4 :
(C) a<2 6 (D) ac<? 1

‘ .
If the cquati;%\;xn»a:{) has no real roots then

(A) GSQ (B a>*
(c) ? D) a<4 1
Rﬂ 2 2J3,3¢2,... F 10 wg &M |
(A 242 B) V288
(€1 V200 ) V162 "
10th term of the sequence vz, 2y2,3y2 ... will ¢ '
A V3az B) 288
(C) 200 o) /162

1
162

E—
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6. fwrfafga awoft &1 7128 g

T HaTdA 0-5 5-10 10-15 | 15-20
i 2 3 6 10
(A) 84 (B) 8a-44
(C) 1295 (D) 13:05
6. The mean of the following table will be
Class-intcrvai 0-5 . 5-10 10-15 15-20 &
Frequency 2 4 6 10 00
(A) 84 (B) 8444 0 o
(C) 12-95 (D) 1305
7. afé AABCTT ADEF %:'% E"r,aﬁé?ﬁﬂ\ g afg
(A) 4B =ZE (B) z,&ﬁ‘
(C) ZA =/D : (D) = /D

7. Ifin AABC and ADEF, %% - %E-&&they will be similar if

(A £B =sE | &0{8] LA= LF
(C) <ZA =24D 9 (D) «ZB =/D

3 m‘lﬁfo,ﬂ,ro,ow‘@?ﬂmﬁﬁaﬁww&m@m
A) . 5 0\0 B) 11
€ 12 \b

O 7+y5 :
8. The pepimdter of a triangle whose vertices are (0,4),(0,0)and(3,0)

wilQ

11 |
o :; 12, N (D) 7+J5 I
. 3tanA=4€raﬁsccA$r:rﬁsﬁvn
A) 3 |
M3 B 3
q
c 3 :
S D 5 1
6000/62 3
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9.

10.

10.

11.

11.

12.

12.

13.

S 822(B%)

if 3tanA=4 then the value of sce A will be

(A) (B)

ol W

©) (D)

Wl A

aft tana +cota=5 R @ tan?a+cot« H AH &M
&) 27 (B 28

1
(c) 23 D) 25. | 0& |

If tana +cota=3 then value of tan® o +cot’ a will be

€y 23 - D) 25 Q
gfe sinf=cosect a Osﬂsf:jg?ﬁuwm:[@'rn 6 |
(A) O ' (B) n/4 \ | |
) =/2 (D) $ |

If sind=cosecO and 0 <8< n/2 the&alue of 0 will be

(A) O . | *“/’4 | | _
© =/2 OB !

Ife sin 6 — cos © = odl s&swmm@m
60 - ® e | |
\o o) U - 1 |

1
4
3
4 4 4.
i 0 will be
the value of sin 6+cos”
p = O then |
If sin E’QOS ]

(A)

B 35

Q 2
Qs o) 1 1
< =

e o s g T 0 e @t 26 FOT T E 3 §
«h Q
25?‘4"33"1?‘@%'@1@1& (B) 12 At

A) 7adt -
o ww o s 1

. . |
6000/62 [ Turn OVer


Hindustanknowledge.com


822(HZ) 6

13.

14.

14.

15.

15.

16.

16.

The length of tangent from g point Q to @ circle is 24 cm and the distan,,
of O from the centre of circle is 25 cm then radius of the circle will be

(A) 7 cm (B) 12cm

() 15cm (D) 245cm ]

afe wh fag, P A ofwﬂaﬁﬁqmﬁﬁmm,ﬁw“@ﬁm 80° & I W
g1 7 a1 £POA BT ' '

(A) 40° (B) 50°
o o &
If tangents PA and PB from a point Pto a circle with cean are inclined
to each other at an angle 80° then £ POA will be 00 |

(A} 40° (B) 50°° 6@
c) 70° (D) 80° 1

r B Tt 99 % 39 Powge w1 S, ° R, B
(A) g 2nr {B)ogax 2nr?
€ —xnr? © x2nr . 1
180 360
Area of the sector of an a%'@ of a circle with radius r will be
0 : 0 2
() T 2nr S B)  osx 2mr
LU 0
(C) T8~ ™ \o | (D) 360" onr - | 1
W 3 2w4ﬁﬁmmmﬁlzoﬁ%lwﬁm“@w
[Q 20 n |t} (B) 10 x a3
(C) 140 A3 ,' (D) 80 x &3 1
The

diameter of 5 solid pipe is 4 cm whose length is 20 cm. Then the
volume of the meta) used in the pipe wil] be

A 20nem? B)  10xem?
(€1 1407 cm? (D) 80 miem”

6000/62
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7
% TH
7. B O O i o e e e
2
(A) 21'[?‘2 (B) Apr | 1
() 3nr I |
7T Sur[;‘c’-? arca of a solid hemisphere with radius r will D€
il | B anr? |
2
(C) 3nr O 6
18, Prfafed el & yyees otf g
T"ﬂ AT 0-10 10-20 20-30
8 12
A) 10-20 (B} 20-30
(C) 30-40 v
18. The median class of the follomug tablc wlggé 5 ——
Class-interval 0-10 E -
Fre 2 12 18 -
quency |
(a) 10-20 Q 20-30 1
D) 40-50
(C) 30-40 _@m
' 5§ df JHHI
19. T SRERAr Aol A Y 30 U 35 @ qET
B) 45 |
(A) 40 NS
ic; 55 6 (D) 48 : 1
19. The mean 7 Q&dian of a frequency table are 30 apd 35 rc_spcctwely.
ill be
Then ils m W | B 4
" (D) 48 | .
=g & wedi 8, A goh! sihRdl 2
20. s T AT 1
B) 3
w = 2
S ill b L
€ 0 : - pility wi
20 [Il‘ ::m event occurs certainly, then 1tS pﬂ:,lbEl | e
| 3 B 3
A 7
(D) 1 1
€ o

[ Toe. -

6£000/62


Hindustanknowledge.com


822(HZ) 2
gug - 9

Section - B
( =rufreRe I¥ )

( Descriptive qﬂe’tion' ) _

1. Wt @ug &I

(a) arr s faf gra 2520 A 10530 1 TToHo qT HoH it

00 )

(b) firg BIRMC i 2J3 T SRy wEd Bl (/M 2

(c) wﬁaﬁé%@ABcﬁgaaﬁgmaﬁABﬁmACéQ“DﬁmEq‘m

a%wgch%wmﬁﬁﬁaﬁ@Ag ig% 2

(d) famgali A(—1,7)T9 B(4 @ I1a YarEve &l 2 : 3 ¥ Tl
aﬂﬁaﬁﬁlﬁ%ﬁﬁsﬁm

‘ (e) M cosec 0= Q@Fﬁé Smﬂ mmﬁmﬁﬁ{m y

(f) mﬁﬁ’lﬂ%@S —2.],(6.4}341?{7,-2)@@1%315%511%

ﬁ%l® 2

1. Do all arts :

3‘\

[aql the LCM and HCF of 2520 and 10530 by prime factorizatior
ethod. ]

(b) Prove that 243 is an irrational number !

AD_AE
AB AC’ 2

6000/62
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9
: - inc seBMeN!

joining the Points A (-1, 7 ) and B(4,-3)in the rati02 - 3.
2

(e) 1fcosec O =2 then find the value of cotg+- S0
l+cos®

are the vertices of

(0 Prove that the points (5,-2},(6,4)and (7, 2) 2

an isosceles triangle:

4
() @ s Waw wfigmor 3x—y=2 @ 9x—3y—6%3ﬁ$%1§:‘

o° 2l
b) 9 F Bt fag p & w10 Wit IR waw & AT & 3
W%ﬁmwwm%rm%mmpﬁﬁa%45°%sﬁ G
| 4
% FTE A Hii Q

@ﬁﬁw%jﬁaﬁmﬁm

4

() @ bl &« Reet dem & A F AT

mﬁaﬁm_:{aﬁwﬁw arfizrmé FiTa HifTe]
% BE = EC &l

(d) foir T R § aft AB= ACH 4

"R

JREdl ] _
| gt 1 FE
0 ﬁaw@ﬂﬁmé,ﬁ,ﬁm aﬁwm,?ﬁma

8 oy s 10 U .

/62 | [ Turp over
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. ars
po any five P
. (} Show that the lincar equations 3x-y= 2 ang 9x-3y=6 has Many

a
solutions. 4

(bj The angle of elevation of the top of 10 Mmetre high building from a
poinl pon the carth is 30° Thercis a flag on the top of the building_
Angle of elevation of the top of the flag [rom the point P is 45°. Find

the length of the flag, Q® 4

(c} The sum of the digits of a two digit number is 9, lf-gA igits of the
number be interchanged then the ncWr numberjv‘ ore than the
original number. Find the number. , , 4

[d.) In the given figure if AB = AC then prove théé\?}zc. 4

A

fe)

520151:'3.“\@@“1@%%[1@ m'mmml

Th mia
-15301-““

N
>

If the median of t %

owing frequency table is 285 then find the
values of x and

ere the sum of frequencies is 80. 4
Class-in 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
S x 20 15 y S

ice are thrown together, find the probability that the sum -of

Peared numbers on both dice is lesg than 7. 4

?ﬁﬁm7ﬁmq§u360mgm6§mﬁmm'ﬁm@

6
qqy

.250&;*1%“?%'3“5[‘43@:14@&20& fed, R ar gfy o=
W.ﬁq%ﬁmﬁmmmh?

{ - "’
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Il cost of 4 L

o b cll;dlrs and 7 tables is Rs. 360 and cost of 6 chairs and
> 19 RS. 520, then find th . able

scparately, ’ en A € cost of one chair and one ta .

OR -
A person takes a loan of Rs. 3,250. He paid Rs, 20 in first month and

then increased Rs. 15 in the payment of every month. Then find in how
many months he pajq the loan. 6

TH TN M b R @ 3 W w8 diw 33 v b ik g e

" -

Wmmsonm45°mﬂlw%|a§qﬁamiﬁ"
& 919 &I gft 7@ Fifyy | i;?é> 6

4
o a <@
firg ifsre [Sin0+cnsec9]2+(cosﬂ+secﬂ}2=7é9+cot28. ' 6

On seceing from the top of a multi—sto@ building the angles of
h

depression of top and ground of 8 mg@ag house are found to be

30° and 45° respectively. Find the h@ of the multistoreyed building

and distance between both the buil@s

Prove that (sin0+ cosecﬂ]2+_ +sec8}2=7+tan29+cot29. 6

5. %&ﬁ%ﬂﬁﬂu{ﬁqﬁhe ¥a $ifie & AB = 3-5 Tt awr fawl i

= cp= 5@ 2l 6
» s

0\0

& T

3%

6

D
YT

TR R W o gl O N O e F g 37 I Ahog ) 3 & wreh
R S 21 oz w3 H oM @R w@ F T WS R Sw @ ey
SRS & . |

| 6

6000/62
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5 Find the total Surfac(_a area of the givcn ﬁglll‘f' where AB = 3:5 em and

height of the toy CD =5 ¢ 6

v O
OR 00
If a pipe drained the water from a semi-spheri & filled by water at

the rate 3% litre per second, how much ti the pipe take to drain

half of the water of the tank, if the diam‘e@f the tank is-3 m ? 6

| | O
822(H2Z) - 3,28,000 @ot |
N
| 0@ -

e
. Q.\\o
<<:;2:
R
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